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General Instructions :

1.

Candidate must write his/her Roll Number on the first page of the Question
Paper.

Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

For the objective type of questions, you have to choose any one of the four
alternatives given in the question, i.e., (A), (B), (C) or (D) and indicate your
correct answer in the Answer-Book given to you.

Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

Answers for all questions, including Matching, True or False, Fill in the Blanks,
etc., are to be given in the Answer-Book only.

Write your Question Paper Code No. 69/SS/ACV/A, Set [A| on the Answer-Book.
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Note : (i) All questions are compulsory.
(i) Marks are given against each question.
(i) Question Nos. 1 to 6 are Multiple-choice Questions. Choose the correct
alternative from (4), (B), (C) and (D) and write it in the Answer-Book.
Few: (@) Al g ShER €
(i) T U % HHA IUh ek euT MY B
(i) A @ 1 H 6 T gfahedtd WA 2| faehedi (A), (B), (C) W@ (D) § ¥ @& fobed
TR IR-Yeaeh § ford |
((1) Answers of all questions are to be given in the Answer-Book given to you.
aft el % I IR & g I-Yfegen H & ford|
(2) 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.
39 YH-TF hl Ugd & fau 15 fime &1 aag fear w21 weA-u @ faar Que o
2:15 s foram M@ 2:15 &9 & 2:30 S qh BT hadl YH-TF HI U 3 g0 3@l
L % GRE o IW-JRTHT W HIE W & i@ )
Choose the correct answer : Y2x6=3
el IW FHT

1. Which is referred to growth pattern with respect to a single department/
process in the BPO industry?

(A) Domestic business process outsourcing

(

B) Horizontal growth
C) Transaction processing
D) Vertical growth
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(A) =T AR AT ST (B) &fasr foepra

(C) TIFe JEEhu (D) Feier fawm

2. Which is a process where one sets out to convey a message to another
person through the medium of words, gestures or pictures?

(A) Response (B) Communication

(C) Decision making (D) Time management

a8 -4t gfsear & a8 = vsgr, somi o1 ot & aem @ foedft o =t
Hex < T JITE KAl 87

(A)  wfafsea (B) &ER
(C) Tk = (D) w99 WeeH

3. In which of the following does the speaker apply the rhythm, syntax and
phonemes of his native tongue, and therefore may not be very clear to the

listener?
(A) Content words (B) First language influence
(C) Regional influence (D) Voice modulation

fffied & 9 frad o 31O AT i o, S-SR et ST S Rl
8 3R gafe oiar & fou ¥ wgd ww 7@ & wehar @7

(A) fowa-swg W= (B) W WIST WIS

(C) & wure (D) 3METS H 3dR-<gd

4. What is the most important component of a sentence?

(A) Preposition (B) Adjective
(C) Pronoun (D) Verb
T 1 G TEYUl Teh FAT 87

(A) e (B) fergrmr
(C) wda™ (D) TR
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5. customers are difficult to convince as they are spontaneous.

(A) Wandering (B) Impulsive
(C) Angry (D) Loyal
__ UEH B HEI HiA B & i 4 FEA B 2
(A) Hehd =Tl (B) smamefit
(C) shiferd (D) THIER
6. _ refers to the way you deal with your time as to how you organize

and plan the time you wish to spend on specific acitivies.
(A) Life balance (B) Engage socially
(C) Time management (D) Healthy lifestyle

T e 3k THY % 1Y SFEgR A o alich | g AT 319 39 THY Hl HA
e 3R fafya wa & m s fafire afafaftet w9 %o ==d 2

(A) St # Fged (B) @IS IS
(C) &HF JEEA (D) Ty Sfa-Sief
7. State any two important roles a leader must play. 1

HE 3 TEEU YT FAET S Tk Ad1 i H9E =nfu)

8. Mention any three types of pronouns. 1

HIIM & hls dF TR Sqrsu|

9. Which is the most commonly used input device? 1

g e A T 9 aren g9 featgm wH-mn 27

10. Name any two external devices. 1

Tl @ Sl U % A9 Sqisu)
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11. Write down two elements of effective presentation. 1

e TG % & a fafau)

12. What is a search engine? 1
e 5O AT 87

13. Explain voice modulation. 1

IMEN B IAR-TEE (g8 Hiseeivd) 6 e Hifvu)

14. Briefly explain the term ‘gender sensitization’. 1

T gadishtor’ Wee T &Y A U9 KT

15. Write down any two key barriers of listening. 2

g H 3 aedl B3 q ygE stens ®i fatew

16. Explain how grooming plays a role in developing a personality. 2

IR HAfhed o fae # fhg yer fiee fvmar 87 =men Sl

17. Write down the ways to treat your customers and their queries effectively. 2

3T TTEehi AR Ik TAT & YTl @1 @ Faed & ol fafau)

18. Explain the types of primary memory. 2
WA THM % YRR I AT HiT|

19. What are four applications of the Internet? 2

e % AR IR AT 87

20. Write the steps to send message via email. 2

e % mom & T A % o fafe
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Cyber attackers use numerous software and codes in cyberspace to commit
cyber crime. Malwares are used for exploiting the weaknesses. Hacking is a
common way of piercing the defenses of protected computer systems and
interfering with their functioning.

(a¢) What title can be given for the above paragraph?

(b) Malware is a software. Is it True or False?

(c) Write any one safe method to make the digital device safe from cyber
attackers.

(d) Other than hacking, name any two cyber crimes.

IR gHATSR AT Y HiH o oI AT H H3 ATl 3R HIS 1 TEHT
Hd Bl FHAANET BT BRI IBH & 90 Aotk *1 s&dT™ 6 wmar 31 2fehn gefera
Hepel fowen it guan &I Wed 3R ITh FRS H gEad B & Th W adewl &l

(%) ITRh WOMe & fow @ sfidss feom S gepan &7

(@) FeeR TH WSR3 I WE 8 A ey

(m) fefsreer feamea =i arsr gaemei & s=H < foT %18 g guiema e fetfa)
(a) &fhm % areTmEr fhedl @ |ReR STl % AW fofa

Answer the following questions on the paragraph given below :

In today’s society, communication is vital for maintaining a safe and
productive environment. Communication is also an important factor in
employee and client relationships, team building and effective work
productivity. Having good communication can be a positive asset to an
organization or team. Whether it be a healthcare setting or corporate
setting, good communication is the key to having successful outcomes.
There are positive as well as negative aspects that involve communication.
Barriers, negative aspects, tend to cause friction within an organization or
between people. Ideally, positive outcomes are the goals when it is related
to communication.

(a) What is the need of the hour in today’s society?
(b) Write another word for ‘vital’.
(c) Give one example of safe environment for women.

(d) Write any two adjectives from the paragraph.

Y2
Y2



f fer MU IgERe & Ul % W AR

IS % Aue H, Fad 3 I ITareul ST W@H o folt T9R Ayl 81 €9l
HAIRI 3R uTes gaei, dm i it gt w Screwar # off t qEwel s 2
I3 HaR fre Tmed I i F folu Tshiienss Hull &1 Tkl 8| TR 9% ey dal
ofd & a1 S AT, ST TER bt IO I HI Foil & TIR H TS 3TN
THRICHS QM1 Tge] IS 8| FTHTE, TohRIHe Tac], Te4 o ik a1 AN & o= e
Bar Ll &1 IEY ®Y U, THNHS UNUMH & o&d B & S« I8 FuR ¥ geiud @i

(%) A & THA H GHIS I FT METAHAT 87

(@) ‘Hewql’ % fore wh 3R wieg ferfau

() wleenstt % fore gefaa amareR w1 ww sqE g
(@) Fgese # ¥ %15 q favrvor fofay

* ok k

661/SS/ACV/A/710 [V25—150] 8 R AR



